Signature and Name of Invigilator

1. (Signature) ......ccccceeeeeeevveeeeeeeeciieenn.

DEC - 36313
Time Allowed : 2%2 Hours]

OMR Sheet No.

Test Booklet No.
vt s | M
Paper-III

GEOGRAPHY

Seat No.

(In figures as in Admit Card)

SEALINO. ettt ettt eeeaaas

(In words)

(To be filled by the Candidate)
[Maximum Marks : 150

Number of Pages in this Booklet : 32

Number of Questions in this Booklet : 75

e

10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iir) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Geography
Paper III

T

gyutseRt 111
Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This Paper contains Seventy Five (75) multiple choice questions, each
question carrying Two (2) marks. Attempt All questions.

AT : A1 YeUIehd TR geee’ (75) sguaEll yed fooiel ofed. Udish Ueen & (2)

0 . W Y gredl.

Leaned fencing post, trees and
communication poles indicate a
type of mass-wasting process
namely .......cccceeeeeinineeeeennnee. .

(A) Solifluction
(B) Soil creep
(C) Mud flow
(D) Soil slump

Which is the oldest mountain system
in the world ?

(A) Urals
(B) Aravallis
(C) Andes
(D) Alps

Who first propounded the theory of
isostasy ?

(A) Pratt
(B) Dutton
(C) Airy
(D) Holmes

Irhdd HIAUTE T, ;TS ST
UhareH WY fawga S g
....................... %T qul{ ﬂt“r\ok'“d.

(A) HeIERA

(B) JEH

(C) HfdehTyaTs

D) &1 TEE

STl Fatd ST qed el o ?
(A) A

(B) et

(C) fe

(D) ATH

Joqer fagia gad ol wieen ?
(A) Ye

(B) €e°

(C) ust

(D) B

[P.T.O.



Match the following :
List I
(@) Sandstone
(b) Shale
(¢) Limestone
(d) Granite
List II
(1) Slate
(2) Marble
(3) Gneiss
(4) Quartzite

Select the correct answer from the
codes given below :

Codes :

(@ ®) (@ ()
Aa @O 3 @ @
B @ B3 @ @
@ @O @ O
M B 2 1 @
The breaking wave is called as :
(A) Swash
(B) Backwash
(C) Surf
(D) Refractive

Which one of the following volcanic
mountains is known as ‘Light house
of the Mediterranean Sea’ ?

(A) Stromboli
(B) Krakatoa
(C) Vesuvius
(D) Etana

DEC - 36313/111
e Jeodl
o I
(@) TTBHIH

R

(b) gH
() TIEEh
(d) HomeH
aTd 11

(1) RN TS
(2) GTHER
(3) ==
(4) FarzmEe
feoicdn GehdihMyd IRT IW W :
Hehdlah :

(@ ®) (@ ()
a o 6 @ @
B 4 3 @ @
©C @ @O @ G
D 3 @ @O @
ROl AeH TR
(A) R @
(B) 9Tl @
(C) ®fa @
(D) wafdd e
qEIcTdeh] IV SATATHETE  gaidrd
YHETENRET S9%Y e Sd ?
(A) e
(B) ShIhTEIS
(C) =gfead
(D) W




Match the following :
List I
(@) Natural Levee
(b) Drumlin
(c) Polje
(d) Seif
List II
(1) Wind
(2) Glacier
(3) Running water
(4) Underground water

Find out the correct answer from the
codes given below :

Codes :

@ b)) © @
A @O @ @ @
B 2 B @ @
o 3 2 @ @
D 1 @ @ O3

The term ‘Suture’ indicates a stitch
line between :

(A) Two plates
(B) Two mountains
(C) Two archepelagos

(D) Two rock formations

DEC - 36313/111
el Jeodl
T 1
(@) L
(b) fedet
(c) HEHS
(d) HEH
TS 11
(1) o
2) fered
(3) dmed wdrof
(4) Y54
qe¢ fooican Heohdieed I I INe
Hahdidh :
@ B © @
A @O 2 B @
B 2 B @ @
© 3 @2 @
D Ol @ @@ A

[P.T.O.



10.

Which one of the following is a
source of atmospheric energy ?

(A) Infrared radiation emitted

downwards from clouds

(B) Visible radiation scattered

upward
Latent heat released

Albedo of the earth and
atmosphere

(©)
(D)

Assertion (A) : When the air is
very humid heat
loss by evaporation
is reduced.

Reason (R) : Ahotanddryday
is warmer and
more uncomfortable
than a hot and

humid day.
Which one of the following is

correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(®)
(D)

10.
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11.

12.

Match the List I with List II and
select the correct answer from the
codes given below :

List I
(@) Chinook
(b) Santa Anna
(¢) Mistral
(d) Sirocco

List II

(1) Warm dry winds in Southern
California

(2) Warm dry winds moving down
the east slopes of Rockies

(3) Warm dry winds of Sahara
desert

(4) Katabatic winds
Codes :

(@ b)) © (@)
Aa @ O @ 3
B 3 @ QO @
< @ 3 @ @
O 1 @ 6 @

Which one of the following is not
true about the Coriolis force ?

(A) Coriolis force is proportional to

wind speed

(B) It is maximum over the polar

regions

It is the effect of earth’s
rotation

(®);

(D) It is directly related to frictional

force

11.

12.
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w1
(@) T
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(c) foega
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(4) Rl 9N

i
(@ b)) () (@

A @ O @ 3

B) B @ QO @

@ 3 @ @

O @®» @ 6 @
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3T

(C) d g=ften Reeren aRomm o1

(D) @ =60 FATAT FHIANG TG
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13.

14.

On the day of winter solistice the
area north of Arctic circle
EXPETIENCES ...oeevveerrereerrerrennnans hours of
darkness.

(A) 12
(B) 24
(C) zero
(D) 06

Match List I with List IT and select
the correct answer from the codes
given below :

List I
(Surface)
(@) Fresh snow
(b) Water body (Sun near horizon)
(c) Old snow

(d) Water body (Sun near the
zenith)

List II

(Albedo Percentage)
(1) 3—5
(2) 50—60
(3) 80—85
(4) 50—80
Codes :

(@ ®) (@ ()
A @O 2 6 @
B 2 @O 6 @
<€ 3 @ 1 @
D B @ @ @

13.

14.
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feaTaardial sTaAfel 3Tfoesh TehoT=A
6111*6’\'(4 E;i?“q{ .........................

STYR . 3Tl
(A) 12
(B) 24
C) =
(D) 06

T 19 g 11 I Siedl Jesad T
Tl oo hdihMyd ava 94
ferer -

w1
(YI=)
(@) dt fed
(b) SoEE (PP fadSTeR STEar)
(¢) S fen
(d) Sde (PP HEAER STHar)
w11
(Wrafda 39 %)
(1) 3—5
(2) 50—60
(3) 80—85
(4) 50—80
Hehdleh
(@ b)) © (@
A @O 2 6 @
B 2 1 B @
< 3 @ 1 @
D B @ @




15.

16.

17.

18.

19.

Surface divergence results in :
(A) Ascending air

(B) Subsidence

(C) Cloud formation

(D) Precipitation

The so-called warm rain process is
caused by which of the following ?

(A) Collision-Coalescence

(B) Condensation sublimation
(C) Collision efficiency

(D) Coalescence efficiency

Ocean currents are caused by ..... .
(A) Salinity difference

(B) Temperature difference

(C) Winds

(D) Tides

Spring tide is experienced ..................
in a month.

(A) Once
(B) Twice
(C) Thrice
(D) Four times

Slow subsidence theory for the
formation of atolls was proposed
DY e, .

(A) Darwin
(B) Murray
(C) Daly
(D) Davis

15.

16.

17.

18.

19.

DEC - 36313/111
ggﬁ?mé CITeTeTdsh] T
(A) T gl
(B) Bod 3Tede
(C) e fAfHt
(D) e
TR 01 TS Hiha § Wiefierdehl
SIS BId ?
(A) TEa-THe
(B) WEIYeA dwiaH
(C) F&d e
(D) SHied e

(A) &Rl d%Ed

(B) dl‘-l‘-ll"lldﬁltd dthildad
(C) aR
(D) WAl 3TErRt

SUARET Wl Afead
.

(A) Uhal
(B) Tl
(C) el
(D) =R eal

UMl Jemesi=n fdl weieft=n
T frssH fagid BIEll
HiSl

(A) eifeH
(B) W
(C) <eft
(D) ==

[P.T.O.



20.

21.

22.

Estuary is a

coast.

(A) Sea cliff

(B) Sea cave

(C) Tidal inlet

(D) River mouth
Domestication of animals was started
in :

(A) Paleolithic period
(B) Mesolithic period

(C) Neolithic period

(D) Pre-paleolithic period

Which one of the following pair is
not correctly matched ?

: Take
from inorganic

(A) Autotrophs energy
sources and fix
it into energy
rich organic
compound

Obtain their
energy from

(B) Heterotrophs :

living organisms

(C) Omnivores : Organism that
consume plants

and animals

: Obtain their
energy from

(D) Detrivores

dead organisms

20.

22.
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(A) HHSHET
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(C) it #ri
(D) @
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23. A succession which is controlled and | 23, gFaM wWd:= IHUEET Gcafed o
motivated by man for his own R SOl ST TR 2
welfare is known as :

(A) Ta:fAfda s1gwam
(A) Autogenic succession

(B) Uelif9d STshAT
(B) Induced succession
(C) Allogenic succession (C) ST=PISTI STTh A
(D) Secondary succession (D) fgdrae srgshmm

24. Who amongst the following is known | 24. @rciiadeht ot e e 9=
for laying the foundations of el AR ?
historical geography ?

(A) Z=T-Tllegd
(A) Ibn-Khaldun

(B) 3AA-TehaHl
(B) Al-Mugaddasi
(C) Al-Idrisi (C) TA-sfsH
(D) Ibn-Batuta (D) ¥T-9qq

25. “There are no necessities but every- | 25. ‘‘fa9 s{Ewasar @& 901 Foiol IR
where possibilities.” This statement .’ T oy SomE R ?
ismade by ....ccccoeevvrerrrrinnnnnen. .

(A) HIA-S-HrR
(A) Carl-O-Sauer

(B) dI-%-d3TH
(B) Yi-Fu-Tuan

C) I e}
(C) Lucien Febvre (©) g <
(D) Fredrich Ratzel D) wefF Tega

11 [P.T.O.



26.

27.

28.

The geography of 1950’s mainly

focussed on :

(A) Location theory, wuse of

quantitative methods and

models
(B) Human Ecology
(C) Aspects of Social Geography
(D) Empirical enquiry

Who advocated climate as the main
determinant of history, culture life-

style and occupations ?
(A) G. Taylor

(B) F. Ratzel

(C) E. Semple

(D) E. Huntington

Aerial differentiation of the earth’s

surface is also known as :
(A) Spatial analysis

(B) Chorology

(C) Chorography

(D) Chronology

26.

27.

28.
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(D) v i

sfaerd, Tl SadGdl o e Iek

IS AMEMMET G 3TEdl, 3Tl

foam= q&&hd & ?
(A) Sf. R

(B) TH. Te=d

(C) g Fme

(D) 3. Bfdmed
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I e .

(A) Afvet favero
(B) Hriifeisr  foeameme
(C) FFUHT ol

(D) hTcThHRMTE
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29. Geography as the study of “Spatial | 29. e U SR FereAr=n v’
Organisation” was propagated ‘by . W W ............................ _qﬁ T:l?)Fﬂ,
(A) Brian Berry (A) I o
(B) Peter Haggett (B) T e
(C) David Shaefer (C) T T
(D) William Bunge (D) foeem ==
30. “The study of historical materialism 30. ‘‘Ufieifas Seae g erfuss Fafdd
i f > haN [
and production of space as a A ST TevRe wE R
reflection of social formation” is SR :
known as :
(A) 9mHIfSTeh  yiTe
(A) Social geography
(B) 3¥clsh YTl
(B) Radical geography
(C) =™
(C) Communism
(D) Tl foehTd
(D) Rural development
1. U@ Yeudiel A= SThdiae
31. Mobility pattern in a region is 3 ?
best studied through the analysis st =
of fogctoomg K0 I Figa.
(A) Density (A) =
(B) Death rate (B) TIX
(C) Migration (C) T
(D) Birth rate (D) S
13 [P.T.O.



32.

33.

34.

A rapid growth of population will
take place in a country with high

number of .........ccoociiiiiiniienen. .
(A) Female

(B) Reproductive Youth

(C) Children

(D) Male

Toda Tribe is associated with

activity.

(A) Shifting cultivation
(B) Terraced cultivation
(C) Pastoral

(D) Food gathering
Transhumance refers to :

(A) Daily commuting for work

(B) Seasonal movement in hilly
region in search of green

pasture

(C) Seasonal movement of

agricultural labour

(D) Refugee migration

33.

34.
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SHMes TR QUM Alh e

S 9@ B4
(A) St

(B) ISA&H Jdh

(C) T
D) T

TR U

(A) HHYEE SHfed Jarg &)

(B) TUARI0M=a1 SN SHRIBHR
SRR AT TR
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35. Favela iS ...cccccovvvviiiiinniinnennnss an | 35. HIell B ATIAd 5]\|l‘|5q¢\é\| SR 9]
informal, Shanty-type settlement. | ... R
(A) Brazil
(A) sifsres
(B) Mexico
(C) S. Africa (B)
(D) Italy (C) 3. 3fhenT
36. Brownfield land in urban area (D) 32Tt
1S teeeercreeeeereee e e . .
36. AMALAdA  ITHATRTSs AT
(A) Site of a demolished building or
W .................................
factory
(B) Site of urban agricultural (A) TTETed ARG fohdl FR@E™
pockets T
(C) Site of slum area (B) T F R T
(D) Site of decayed urban area
(C) HISua oM
37. Which one of the following does
not relate to “law of the primate (D) foradia AEET T
city” ? 37. Weltetisht o faeam o 3ifh Jrme
(A) a leading city is " ot deefq A ?
disproportionately larger than
any others (A) TR YRIUL FHUETE Sleeiel ST
(B) an expression of the national RIS
identity (B) T e R
(C) propounded by Jefferson N o -
(C) SIHIET HIS
(D) late stage of economic
development (D) o7k fommmdia Seim=n <o
15 [P.T.O.



38.

39.

40.

Which one of the following pairs is

not matched correctly ?

(A) A.E. Smailes—Concept of

Townscape

(B) Griffin and Preston—Transition

zone concept

(C) Horwood and Boyce—Core-

frame concept

(D) A.E.

expression of urban field

Smalles—Graphic

Who amongst the following has
divided the world into major

agricultural regions ?
(A) Stamp

(B) Whittlesey

(C) Barker

(D) Weaver

What is the controlling factor for the
growth of the plantation agriculture

in the tropics ?
(A) Soil

(B) Labour
(C) Irrigation

(D) Climate

38.

39.

40.
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(A) T3 TG — IASHTEhY HhoUdl

(B) frem 7 foeq — aifem oM
Hheq T

— HITHY

(C) eRgE Afur =gy

HhouTl

(D) TE. el — Whish TFYIH AH
e HicsS

TRt SIvT e faveq 9q@
Fo faurma sa o ?

(A) €™

(B) feee®

(C) ST

(D) 9=l

Ieurhfea efla gR9md He3ATAT QI
[Aeh[HId  <plUIdl LAY h U] *=cch
e ?

(A) 91

(B) "X

(C) &=

(D) ZamHH
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41. Fishing in inland waters is more | 41. WS WA SIARMEGIG HEAN TS S
common in : yafed e ?
(A) Monsoon Asia (A) H=A AT
(B) Central Africa (B) A& 3Tfheht
(C) North America (C) ST Al
(D) South America (D) <faror oAf

42. The Industrial location theory | 49 o = wWH aER onufE @
based on least-cost-location is N fagid &t qieen 2
formulated by :

(A) Smith ®) e
(B) Isard ®) ==
(C) Weber © 5=
(D) Fetter D) #

43. Which one of the following resources 43. ?TTFﬁF.{ﬁﬁ il QTT" HTET:IH.TQ:\T
has reached below its sustained (TSR SclarTeAl Hiqenl Hell s
yield level ? e 2
(A) Water (A)

(B) Temperate forests (B) w5
(C) Tigers (C) ==
(D) Whales D) =
44. The major factor controlling 44. PtEmIR e FHOM e weh
agricultural efficiency is : | T .
(A) Farming practices (A) Ft foran
(B) Investment (B) TaAUh
(C) Irrigation (C) STeaf=r
(D) Use of fertilizers (D) =l SR
17 [P.T.O.



45.

46.

47.

Efficiency of transport network

depends upon :

(A) Accessibility

(B) Connectivity
(C) Complimentarity
(D) Transferability

Who amongst the following used
technique for

of

multi-faceted

demarcation agricultural

regions ?

(A) Coppock
(B) Valkensberg
(C) Whittlesey
(D) Carol
“Who rimland

controls the

rules Eurasia, who rules Eurasia
rules the world” is a statement

DY oo, .
(A) Mackinder

(B) Spykman

(C) Mahan

(D) Hooson

45.

46.

47.
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3T

(A) gmdr

(B) |yl

(C) YTehdl

(D) AT

TIeeTdehl IV TESTATH =l STAM

FEt faurTr=n @Al e ] ?
(A) hiale

(B) arcTsh~4e

(C) feea@

(D) A

“afferageter it frrsror sha ot JRfRmEreR
TS hicd, ST FUATR T hict i SR
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48.

49.

50.

The administrative capital of South

Africa is :

(A) Cape Town

(B) Durban

(C) Johannesburg

(D) Pretoria

Boundaries are :

(A) Zonal and artificial

(B) Artificial and separating

(C) Zonal, separating and movable

(D) Artificial, separating and

movable

Semang tribe is inhabitant of

natural region.
(A) Tundra

(B) Equatorial forest

(C) Steppe

(D) Savanna

48.

49.

50.
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zferor Afma=t UITHsR I USEmT
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51.

52.

53.

Social evolution of tribal groups is

controlled by :

(A) Social stratification

(B) Interaction with modern culture
(C) Spread of education

(D) Intra-tribe harmony

Drewnowski’s approach

distinguishes between :

(A) The state of well-being and the

level of living

(B) The level of living and the
quality of life

(C) The standard of living and the

level of welfare

(D) The cost of living and the level

of living

A majority of people of Jerusalem

are followers of :
(A) Judaism

(B) Atheism

(C) Islam

(D) Christianity

51.

52.

53.

DEC - 36313/111

ST |HIfSTeh  3ehid

EREREREETSIES G

(A) TSR TR

(B) MYk TRl STk

(C) fereromean 9OR

(D) SEHE HAEN

TRt AIHIGdl AT Bl
|
(A) SRl fodt o Teuiddest

(B) TRUUIdes & S
(C) UBUIHM o hHedordrdes!
(D) TEviged o TEuiidided

I ST TR
(A) “gerE=sH

(B) 9=z

(C) =™

(D) Tg=ntet




54. Ethnocentrism is characterised

55.

by :

(@) Discrimination
(b) Diversity

(c) Disparity

(d) Fanaticism

Select the appropriate option from
the following :

(A) (a) and (b)
(B) (®) and (c)
(C) (c) and (d)
(D) (a) and (d)
Assertion (A): Haryana is a

leading producer
of cars.

The state has a
rich resource base.

Reason (R):

Select the correct alternative using
the codes below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(®);
(D)

DEC - 36313/111

54. dIITH FAE IfgS WTATAYHTO

55.

e

(@) e

(b) fafaea

(c) fororman

(d) "HeSTm

Trefierie! Arg qaE e
(A) (a) 9 (b)

(B) (®) = (c)

(C) (o) A (d)

D) (a) 9 (d)

faam™ (A) :HITR IURATd AT
AU R

FHROT (R) : TSAd GO€ HIEEEIST
R,

et fadiean ghdvrserayd ATy
foerea feret -

Hehd :
(A) (A) 9 (R) T8l I 3TRd 3T
(R) § (A) o 3T TILIHI Y

(B) (A) 9 (R) =l ae” ed W
(R) T (A) o 3T TR AR

(C) (A) & SR 3 W (R) § TH
3

D) (A) ¥ 9% o WY (R) ¥ TR
3T
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56.

57.

58.

What is the BEST description of
Kashmir valley ?

(A) Economic region
(B) Planning region
(C) Cultural region
(D) Political region

Which one of the following factors
is responsible for poor development
of northern Gujarat ?

(A) Physical

(B) Economical
(C) Cultural

(D) Administrative

Match the regions in List I with
their type in List II and select the
correct answer using the codes given
below :
List I

(@) Regur zone
®)
(c)

(d)

Mumbai Metropolitan Region
Radhanagari
Jharkhand
List II
(1) Formal
(2)
3)
(4) Administrative
Codes :
(@)
A) (1)
B) (1)
C)
(D) (4)

Resource
Planning

b)
(2)
(3)
(3)
(3)

(c)
(3)
(4)
(2)
(2)

(d)
4)
(2)
4)
(1)

56.

57.

58.

DEC - 36313/111

SR A= YT G4 HwTI
e ?

(A) sTffes gaw

(B) fiNm wew

(C) Wipfdsh o

(D) TSHT T

S TSI Al foehEmen @refierde]
HIUAI Th Tk DHRUTYT TS 7
(A) Yrehideh

(B) amfedes

(C) Hitepiden

(D) YRIEHE

et 1 wefiel gewms el 11 /el feeiesn
A=A IRIET Seavit wU AT
el T waig feen

o I
TR YW
(b) IS HETR We¥
(¢) T
(d) FREs

ot II
ATRTH
reAgYeT
C)IRERISE]
(4) TRESHI
i

(@)

(A) (1)
B) 1)
©) (D
D) (4)

(@)

(1)
(2)

b)
(2)
3)
(3)
(3)

(c)
(3)
(4)
(2)
(2)

(d)
(4)
(2)
(4)
(1)
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59.

60.

61.

Select the odd member from the

following items :
(A) Port
(B) Organization
(C) Ford
(D) Node

Who developed a methodology for
the study of human communities

based on ‘Place-Work-Folk’

progression ?

(A) T.H. Huxley

(B) Patrick Geddes

(C) H.R. Mill

(D) Vidal de la Blache

Attaining development without
causing damage to the environment

is called :

(A) Regional development
(B) Area development

(C) Sustainable development

(D) Social development

59.

60.

61.

DEC - 36313/111

Trelads! foog wes faer .
(A) =
(B) &=
(C) SdRfsig

(D) hafoig.
“zF-hrE -l Jofe’! STER. W

AT SIS STl shIon

foerfad sheft ?

(A) A= T
(B) dUdrh e
(C) TH.3W. fHa

D) fagra o o =

TSROl BT A Qe faenrd | e

(A) YefEen fas™
(B) &=itg fawrd

(C) fean fawg

(D) grHrtsieh foerrg
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62. Following List I lists some of the
peaks from peninsular India and
List IT includes the names of ranges.
Which of the following matches is

correct ?
List I
(@) Nallamala
(b) Malaygiri
(¢) Anaimudi
(d) Kemmangudi
List II
(1) Southern-Western Ghats
(2) Central Western Ghats
(3) Orissa Eastern Ghats
(4) Andhra Eastern Ghats
Codes :
(@ ) (© (@
A @ 3 @ @
B O @ & @
© @ O B @
D 1 B @ @

DEC - 36313/I11
62. @ieiial At I o7fr ot IT a1 ST

TRAT grosheurd 3TTeesut fIrenr

9 geaumEl A1 <gifade. et
feeTed STedTUeh! ShIvd] SiTel sie) 311
q M@

Tqar 1

(@) ceTHIe
(b) weRERH
(c) el
(d) HHETE

Ta 11
(1) Tfeqo-ufy=s =M
(2) AA-UR¥=H =L
(3) fEn gd e

(4) =y 9d =M
Hehdich

(@ b)) () (@
A @ 3 @O @
B O @ @ @
© @ O B @
M D B @ 2
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63. The following tables list some
of the major tribes and the states

of India :
List I
(Tribes)
(@) Santhal
(b) Toda
(c) Bhil
(d) Garo
List II
(1) Karnataka
(2) Meghalaya
(3) Orissa
(4) Dadra and Nagar Haveli
Codes :

@ B © @
A @O @ @ @
B B 1 @ @
© @ O @ @

D 3 @ @ @

DEC - 36313/111
63. HRAIA HIE IH@ STicardl ST

o~

feete

D

9 HIE T ETard  deedrd

3Ted. wr= fafay Srediqd sl i€l

mer
Ta 1
(anfeaTst )
(@) GIB
(b) e
(c) faew
(d) T
T 11
=)
(1) wieh
(2) HETeH
(3) e
(4) TR I TR gt
SeTd U=y
(@ ®) (@ (@
A @O 2 6 @
B B 1 @ @
C @ QO B @

D B3 @ @ @
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64. Assertion (A) :

Reason (R) :

The failure of
South-West

Monsoon in
India leads to the
lowering of

agricultural

produce.

Whenever El-
Nino occurs, it

adversely affects

Monsoon.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

64. faegm (A) :

DEC - 36313/111

HIRd=A] '\:|>|:3.0"| HIRY A=A

YT gfyus

N A

[AMHTAT=AT SHIGATd ¥

BIUIHEY el

HRUT (R) : Sl Segl WaA-fA71
T AT araeR. fauda

gRom i
WAcTdeh! HIUAN 9o AT 3T ?

(A) (A) 9 (R) T2t IR 3TRd g

(R) T (A) = 3T TR 3

(B) (A) d (R) =l IR 3Ted W

(R) T (A) = 3T TR AR

(C) (A) T R 3R Wg (R) § T%
3T

D) (A) T 5% 38 Wg (R) ¥ s
S
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65.

66.

The increasing change in symbiotic
relationship between the tribals and

hilly forested areas in India is a

result of .....cccoeviiiiiin, .

(A) Government Policy to bring the
tribals in the main-stream,
socially

(B) Increasing educational
opportunities

(C) Their attraction and migration

towards urban centres
(D) Reservation policies

Which one of the following

manufacturing activities get

agglomerated with sugar factory ?
(@) Furniture

(b) Eco-board

(c) Alcohol

(d) Confectionary

Select the appropriate option from

the following :

(A) (a), (b) and (c)
(B) (b), (c) and (d)
(C) (c¢), (d) and (a)
(D) (d), (a) and ()

65.

66.
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ORATdTA SATfeardt SHId! A1 aresiied
TR Yo¥T el ggsiioqrd  sIom

TR

(A) STfard = A= §& YRl
SIS FRE HI0T

(B) dredl Srerfores g

(C) = AT helheld SRS o

THES UM TR

(D) STREU &RY

TTATATHRT HIUTHT ITME BT
HREEA Te B ?

(@) TR

(b) seHIEE

(c) STThiRd

(d) FHRTR

Gefieteh! I qarg e
(A) (@), (b) AT (c)

(B) (B), (c) U (d)

(©) (o), (d) M (@)

D) (d), (@) 30 (b)
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68.

69.

is the leading

producer of common salt in India.
(A) Gujarat

(B) Tamil Nadu

(C) Karnataka

(D) Andhra Pradesh

Plateau area in Tamil Nadu
predominently has tank irrigation,

because .....coooeeeeveeeieaan, )

(A)

It receives very low rainfall

(B) Rock formations in the region

do not permit much percolation

(C) There are no big dams and

canal systems

(D) Construction of tanks is more

economical

Single purpose maps portray
information related only to the theme
ofthemapina .......ccceeunneeenn,
(A) generalised

(B) simplified

(C) superimposed

(D) summarised

68.

69.
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(D) ST

eSS, TSATdIel Rt Yeud des THe=m

JEAH  3T@esd, R

(A) a9 geEE gHor oY TR

(B) <1 YRIMAIA ©eeh S 37d Ha0l

> <d AR
(C) A9 O3 e 9 fo= Yehed I

(D) deI=l JiE HHT WErEl S
TR TR Sde famafiss afedt

Tgdq gefferard.
(A) 9E

(B) Hren

(C) JARIY

(D) 9IS
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70. In the process of creating new | 70. GIS favevong = sfufe=r=an gedieoh
overlays co-registered with the B T
basemap in GIS analysis, the base-

: qIdesiol TRl

map always remains at the
...................... level (A) O
(B) to

P (C) @rer=
(C) bottom

(D) YT HYAT

(D) intermediate

71. A stereo-pair attains the property of 7. i
stereo-vision on account of the Hfadta qeamrd=n o 9 2.
............................ in the pair. (A) I=a8
(A) elevated area

(B) dred&sn
(B) background area
(C) afSiaaEn
(C) exclusive area
(D) overlap area D CEL

79 A condition of “mean > median > | 72. W@ IRaRal faamg ‘wEd >
mode” in a frequency distribution TR > agash a9t fedt 9 faau
indicates that it is a .......ccccccuunnnnnes S giad w.
distribution.

e (A) Fhair
(A) Positively skewed
(B) Laptokurtic (B) #AfARrEwAT
(C) Negatively skewed (C) RUhcA™
(D) Platykurtic (D) wHad e
29 [P.T.O.



73.

74.

75.

Standard error of mean is also the

standard deviation of a :

(A) Distribution of the observed

values

(B) Sampling distribution

(C) Distribution of the expected

values

(D) Distribution of the estimated

values

If the two regression lines “X on Y”
and “Y on X” intersect each other
at right angle, the two variables will

have ....oooveveiiies .

(A) High negative correlation
(B) High positive correlation
(C) Zero correlation

(D) Moderate correlation

Leptokurtic distribution will

have ..cooveeeeeeeeeeeee. )

(A)

Very low value of mean

(B) Very low value of coefficient of

variation

(C) High value of variance

(D) High value of std. deviation

74.

75.
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(B) wfd==q

(C) 1ufard qoa
(D) TSI oA
“XaYaga” anfon 'Y 9 X aa’’
I GHILI IO SR ThHR[H HIEehATd
Bed A, T o S FeATHHA
qgda Y HEu®

Y.

..........................

(A) 3=d RUMHb
(B) 3=d ¥dIcH%

(C) ;A

(D) AEEH

ST H

3a.
(A) TEd qog Afd

n

(B) Seair=Al WUkt Hod  SifdehH
(C) Y=RUT= Hod 3AfHeh
(D) yAIford fo=emr g At
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